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Calculation for Adjustment of plane Triangulation Nets
Kenzo Morita

Abstract

In general, there are three kinds of condition equations necessary
for adjustment of plane triangulation nets, and they are point equa-
tions at every station, angle equations at individual triangle and a side
equation in a set of triangulation net which is between two base lines
or in a closed figure.

In this paper the author described chiefly a method of adjustment
for triangulation nets on the basis of numerical values called “influence
value” when the above-mentioned three conditions are included.

Moreover, he checked the errors to have influence on adjustment
values when the effective number of figures of these influence coeffi-
cient was limited and simplified.

Note; The “influence value” in this paper means the numerical
values to indicate the relative relation of the influence
when the individual triangle and station point forming the
triangultaion nets have influence upon point correlates or.
angle correlates.
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Fl06
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3 T,Itékura : Rapid and Rigorous calculation for Adjustment of Fundamental Trian-
gulation Nets by “Mechanical sketch Method”. Memoirs of the Faculty
of Eng., Hokkaido Imp. Univ. Vol.5 No.3 P.228 May 1939,
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[1,=68°—35"—
5:=43°— 0'—

1= 68°— 24" —
179°--59" —

(& | &
1:=67°—35"—43" log sin 1, =9. 9659137
I, =67°-21"— 7" log sin. I,=9. 9651487
=450~ 3', - E".",, ,
“180° — 57 w,=+5"
d,=8.68 d=175. 3424
d.=8.78 d*,=77. 0884
di—d,=—0.10
I, =61°—36"—10" log sin ,=9. 9443206
I, =48°-38—10"" log sin. I; = 9. 8753667
1,=69°—45"—-52"
180° — 0’ —12" w,= +12"
d,=11.38 d:,=129. 5044
_ d,=18.53 d?, =343, 3609
da—d; ~‘7 15
1: =50°—29— 3" log sin 1:=9, 8873071
lq =66°—41"—17" log sin 1. =9. 9630148
” o 620 _49’ 77%0// -
"179° —59 —50" 10, = — 10"
d.=17.37 d*=301.7169
ds= 9.07 d*= 82,2649
d:—d.=+8.30
L, =58°—12'—47" log sin fi,=9. 9294254
u=51°— 3'— 0" log sin [, =9. 898092
J=T70°—44— 67
1/90 K9/ 53// : __7//
dw =13.05 d*,=170. 3025
d.=17.02 d*,=289. 6804
dv—dn=—3.97
1, =54°—33"—43" log sin I, =9. 9110205
1, =67°—49 — 3" log sin 1,,=9. 9660872
L, =57°—4T—23
180° = 0'— 97 w,= +9”
di:=14.98 d*,=224. 4004
d.= 8.65 die= 74,8225

d;d;ali = +?33 B

177 log sin £, =9. 9689402
0 log sin /:=9. 8337833
28//
457 10,= —15"
duw= 8.25 1, =68. 0625
 du=2258  dhe=509.8564
dro—dv=—14.33

d* —A«(d wa— _+1Z am-1,

m=1

= 2346, 4026
(59)

d.—

d.=+8.59

dlu—d;: —5.48

dm‘“ds: +5 91

dlﬁ_

dn =—8.77
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B,=2707. 418 w;= (logB,—logB.) +§4 log sin Lim-o— i log sin lym-1= —314
=350™. 578 m=t met VB 7 A2 B D
14, =202"—24'—10" weay=15+1—360=-7"
L., =253"—20"—40"" Wy = Loy T 1,4+ 1,—360° = -5
by =172°—23"—43"  w =l +L+L+1L—360°= —15"
Ly=190°—19--27" w=ly+L+l+1,—360.=—6"
Iy =168~ 1'— 4" wiy =l + 1+, +1,—360°= 410"
Loy =182°--34"—28" Wy =1l + 141+ 1, —360°= -8
Loy =223°—56'—22""  t0i,= Lo+ Lt lr—360° = —7"
Ly =316°—59 —51" 1w =l +ln—360°= —9"
%11@@'%@%%[‘74: n

K,=— [ —59841w, — 1974w, — 1273w, — 59610, — 332. Brwr;—~ 17920, + 2992w 15 + 285200,

10000 E R w ]

+ 380810 ) + 96110y 455000, 277100y +170. 5105, 4-89. w0, + K. —~5984(d—d.)
5 B w0

—19/4(d d y— 1273Cd~’*d \ 596(d10—d11) 332.5'd— (114)“”‘179(5’/1«;"5117\'
X A B (%

+2992d. + 2652d .+ 2308(d<—d, ) +961(d1o—d:) +550(dss—d ) + 277 (dre—dr)
gl A 1 E3

+170. 5(—d ) +89. 5(—d:) J
= 10000[ 5984 > 5. —1974x 12, —1278% (—10.)—596x (—7. )—332.5x 9. —179

X (—15.)+2992x (—7.)+2652 x 5. +2308x (—15.)+961 x (—6. )+550 < 10. +227.
X 8. +170. 5% (—7.)+89. 5% (—9. ) + K, {—5084 x (0, 10)—1874 x (—7. 15)—1273
8. 3596 (—3. 97)—332, 5 6. 33— 170 x ( —14. 33) 12092 8. 65+2652 % 11, 3842308
x 8.59+961 % (—5. 48)+550 % 5914277 x (—8.97)+170.5x (—8.65)+89.5x (—22.58)} |
= —7.938+7. 50085,
K,=

- 05 x (—7.)—577%x 9. —332
10000L 1974 5, —5705% 121819 (—10.)—1203 (—7. )—577 %

X (—15.)4+987 x (—7. ) +2560x 5. +2374 x (—15.)+2182 x (—6)+900x 10. +528
% 8. +303x (—7. )+166% (—9) +K; {—1974x (—0. 10)—5705 % (—7. 15)—1819x 8.3
—1203 x (—3.97)—577 x 6. 33—332 (14. 33)+987 x 8. 68-+2560 x 11. 38+2374x 6. 9
+2182x (—5. 48) +900 x 5, 91+528 x (—8.77)+ 303 % (—8.65)+166 > (—22.58) } |
= —8.51347. 2226K,
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TR = AED
PR LT K,=+41.362—0. 8641 K} K,=+4.338—0. 061345
K;=—0.451—5. 4328K K= 45.733—2. T220K;

Koy = 103)% L+2Q?J?iv -98710, + 63610, + 268w, + 1660 + G0, — 64960 1, — 132610 )
X i B4 % ]
— 115400, — 48000, — 275005, — 1390, — 8520 (5, — 4510 ) +1151+2392(d1~—d ) +987(d,
R 1 # =
—d;)4-636(d:—d> +298(d1—d 1) +166(dss—d;.) +90(d1,—dyr) — 6496d,—1326d,
® B4 #

"‘llJ4(a ‘*57 ) 48\)((?10“"(1 ““215(011 id \ i 9 1(;—_'d11>—‘“85:k'd1,\)'*45(*"(.117)}1
i B B £ -

]

= o0 | 2992 5. +087 x 12. +636 % (—10.) 42
6496 (7. 0)— 1526 % 5, —1154X ( —15. ) —480 X (—6. )—275x 10. —139 x 8, —85
(7. ) A5 % (= 3.0) + K, {+2992 % (—0. 10)4+987 % (7. 15)+636 x 5. 3+298
X (3. 97)+166 % 6. 334-90 x ( — 14. 33) — 6498 x 3. 68— 1326 x 11. 58— 1154 x 8. 59—480
X (—5.48)— 2755, 91—139 X (— 8. 77) 85X (8. 65)—45 x (—22.58)} |
= +7.467—8. (912K,
IR LT Ko =+3.817- 8. 704K, K. = +7. 530—5. 6122K,
Koo=2.203—0, 2033, R =—3.81040. 113K, K, =—4. 404+4. 2204K,
= 0. 572--5.6016K, K, = +1.635+12. 6514K,

<
9}

33
—d* K= 4w, +A~ Ay IX/;, ‘lL <d:uu- d&(m— SEEDY. ‘&(7)} \}dmz JlS\m+ e H\((/ I

=1 T m= m=1

’f'dm/(,—i)lrg’m} i\:- [{'(m‘/ 72171\4]\7}_ ZD k_

—2346. 4026 = 314+ (—r7 467 —8.0812:(;) x 8.68 + (3.817—8.7 x 11.38

[{(U d1 [S(g) d.t

+ (+7.530—5. 61224) x 8 59+ 4+ (—4. 40444, 220455) x (—8.77) — (0.572

K s (d:—d.) Ko (dys—di1)

+5.6016K,) x (8.65) — (1. 635412, GB14K) X 22,58+ ((ﬂ 7.938+7. 506 OSKO

.A, o di, i&(;,) dix K

X (0,10 +ooeeeen 4+ (4+5.733--2. 7220[&]) X (—=14.33), ok b Ky=+0.1221

(d,— d ) K (dm'dﬂ)

s W= —7.938+7. 5008K = —7.9884-7. 5008 x (—0.1221) = —7. 022
iz LT Av=-—7.631 Ny== 41,257 K.=+4,330 ANo=—1.114
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Ki=+5.401 Ku=+6,479 Ku=+2.755 Ku=+6.844 K, =+2.178
Ki;=—3.796 K =—3.889 Kio=+1.255 Ku=+3.180
FEANTEN A
WA, Vew=Km IH Kuo=+6.48" K.,=42.75" Kgu=+6.84"
Ko=+42.18" K;=-3.80" Ku=-3.88" 'Kn=+1.25" Kq=+3.18"
Py,
TEF RO T4 Vin=Kmin+HK. kb K,=—426" K,=—0.79"
K,=+3.44" Kp=+0.54" K;;=-—5.00" &u=+6.66"
NERERS 50N
FEGUORH,  Vines=EKm +Kntdim--K; 31D Vi=+40.52" V,=-3.49"
Ve=410.21"  Vi=+8.10" Vi=—3.09" V,,=+2.52"
Bl o ®,  Vieer=Koio +En—din oK X0 Vi=—1.267 Vy=—7.72"
Vi=-3.65" Vu=-—1.64" Vi, =-—0.91" V=582 [V*]=552 6144
B

M,= 67°—35"—43.52" M,= 61°-36"— 6.517 M= 50°-—-29"—13.21"
M,= 67°—21"— 5.74"” M,= 48°-—-38"— 2.28" M= 66°—41"—13.35"
M= 45— §-10.74" M= 60°—d5'~51.217 M= 62°—49'—33. 44"
[ 1
EM=180°~ o— 07 > M =180°— 0'— 0" XM= 800— o'— 0
1 4 7
M,,= b8°—12"—55. 10" M,,= 54°—-33'—39.91" W = 68°—35"--19.52"
My = 51°— 2/—58.36" M, = 67°—39— 2.09"” = 43°— 0’—~ 5.82
M= T0°-44— 6,547 My= 57°—47'—18.00" Mm= 18°—24'—34.66"
12 15 18
SM=180°— 0’ — 0" M =180°— O/'— ¢ M =180°— 0'— 0
10 13 16

M,y =292°—24"—16.48" M, =166°— 1'— 0.20"
My =253°—20'—42.72" M) =182°—34"—24.12"
My =172°—23"—49. 84"  M:)=223°—56"—23. 25"
M, =190°—19"—-29.18" M =316°—59"—54.18""

11141 +1W<1) :Mf +']V[4 ’*"M»(g) :jwz +M;,+Afr +]vj(:x) :M', +M/+]V[m +17'/[(4)
:]1/[8+M12 +17VI13+M5) :M11‘{"ﬂf1s+Mm+]‘4<m :M14+MIR+MT] :M17+A/[(s)
=360°—0'—0"’

i % OBREOHS: = +0. 6745 5’@@ = +4.09"

(23 x5, fAMOUD 3 RO CHMERIL D s 2 IR T b ie W B
BISL (13) o (4) K b ii b o G BT iudsicii o FER A E L A, B
FCii A G
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1, WER GO T Vin=Kn (HLm=1, 2, -n, )
2, ESRICHRL B MR b (13
RIADH A, Vin o=Kntdm K (ALm=1 2, - n o)
BEEA 1Y, Vener=EKn—dsn-1Ks 7 )
IR E A
MERR SKnt+(don-—din DK+ wn,=0 ({Hlm=1 2, - )
AR ”:_dgd;,m_g—-d;;mﬁl)ffm+d"'s[i’s+w,;:O E ------------ (14"
W, A% w; 118 (A4 X LFET f

(A4 Lo K, wkos—peallakosac s, Hb

\ r<d5m— d:ﬁ:n,»l) 'ZUm}“g‘ZU::

Ky= = e 15
Od _S‘((i I~y dd??L—'l)z

[z

U&ﬁibﬁl®ﬁ%*w,z&1m:«ékahw*mmwn+wﬁ WACAT IUE B

(m L 2) ...... ;l)

DEI KD NS,
CE (5) M aE LoF g el o L A&A Ul th 5t ]
D m 7 ®

(13 VAT o B AT 2 e ok

Vo
GiEEERON, WERLOCHERLHFIAO L 5 Cie s,
R Y

UM FEOTER X L T5 b0
(30 sin(ls+ V). sin(l+ Vo), sinlh+ Vo1, + V)

,,,,,,, P =T e AR 1
sin(l,4+ V), sin( L+ Vit L+ V. sinll, + Vo) W C1)
4 T Ital\ura Wlapld and Rigorous calculation for Adjustment of Fundamental Tran-
gulation Nets by “Mechanical sketch Method.” Memoirs of the Faculty
of Eng., Hokkaido Imp. Univ. Vol.5 No.3 P.235 May 1939
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304 O < I
~sin((L+ Vit 1+ Vo) sin(L+ V), sin(L+Ve)
sin(l+ Vo), sin(lL+ Vi+L+ Vo), sin(hL+ V)

s,y - S+ Vetl+ Vo), sin(L+ Vo sinCh+Vo) 7 (3)
e sin(L+ V), sin(l,+V,+1.+ V), sin(l.+V)

(S o SILAVitl+ V), sin(z+ Vo). sin(l+ Vi)
Y sl 4+ V), sin(h 4 Vi 4+ Vo). sia(h+ V)

PHATED I FIE R D LR 2B E T 5 0

(s N Sln([ +V +l +V¢;) Sln(lq'{" Vs) Sln.(l +V3+l4+V4) Sln(ll'i_Vl) =1 w (5)
’ sin(lL+Vi+ L+ V), sin(L+ V), sin(lh+ Vi+L+ V., sin(L+Vs) T .

S sin(li+ Vo414 Vi), sin(l+ Vo), sin(l+ Vi +1,+ Vo), sin(l,+ V)

T sta(L+ Vi L+ VY, sin(l+ V), sin(l+ V,+ L+ V), sin(L+V2) =1, (6)
DU DN FAIdt D28 At & 35 D

€y - sin(Z+V.), sin(L+ V), sin(l+ V), sin(L+ Vo) Lo W (0
DT Sin(L A V), sin(LE VL) sin(L A Vo), sin(L b V) T e 4 (0D

16 /5
W1, SO NMOFIN 180° 1A LV L b
AM@UW Xy (L+HVo+L+VO+HU AV +(L+V)—180°
=Vi+ V. +V+V+w,=0--(a) AL L+L41+1,—180°=1w,

IHH\,{\.\: LT

NM)@2)B) Xy VetVi+Vi+Vitw, =0 (@) L L+1L+1L,4+1,—180°=1w,
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